Contract No:DH00526

WBS No:BP8.R001.3

County:Moore

Replacement of Bridge No. 46 over Mcintosh Creek on SR 1658

(Wadsworth Road)

				D E DIIDNE &	- SONS CO. INC	CANEODD CON	ITD A CTODS INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	z SONS CO., INC AMOUNT BID		TRACTORS, INC AMOUNT BID
1	Mobilization	1.00	LS	\$45,000.00	\$45,000.00		\$46,745.00
2	Type II Modified Approach Fill, Sta. 12+16 -L-	1.00	LS	\$10,000.00	\$10,000.00		\$15,000.00
3	Grading	1.00	LS	\$80,000.00	\$80,000.00	\$95,000.00	\$95,000.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$1.50	\$450.00	\$1.50	\$450.00
6	Foundation Conditioning Material, Minor Structures	10.00	Ton	\$1.00	\$10.00	\$1.00	\$10.00
7	Foundation Conditioning Geotextile	20.00	SY	\$1.00	\$20.00	\$1.00	\$20.00
8	15" Drainage Pipe	20.00	LF	\$50.00	\$1,000.00	\$50.00	\$1,000.00
9	15" RC Pipe Culverts, Class IV	26.00	LF	\$50.00	\$1,300.00	\$50.00	\$1,300.00
10	Shallow Undercut	100.00	CY	\$20.00	\$2,000.00	\$20.00	\$2,000.00
11	Class IV Subgrade Stabilization	190.00	Ton	\$33.00	\$6,270.00	\$33.00	\$6,270.00
12	Incidental Stone Base	15.00	Ton	\$33.00	\$495.00	\$33.00	\$495.00
13	Incidental Milling	161.00	SY	\$10.00	\$1,610.00	\$10.00	\$1,610.00
14	Asphalt Concrete Base Course, Type B25.0C	120.00	Ton	\$160.00	\$19,200.00	\$133.00	\$15,960.00
15	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	Ton	\$160.00	\$19,200.00	\$132.00	\$15,840.00
16	Asphalt Concrete Surface Course, Type S9.5B	190.00	Ton	\$160.00	\$30,400.00	\$129.00	\$24,510.00
17	Asphalt Binder for Plant Mix	25.00	Ton	\$714.10	\$17,852.50	\$575.00	\$14,375.00
18	Right-of-Way Markers	10.00	Ea	\$220.00	\$2,200.00	\$214.00	\$2,140.00
19	Masonry Drainage Structure	2.00	Ea	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00
20	Masonry Drainage Structure	1.40	LF	\$120.00	\$168.00	\$120.00	\$168.00
21	Frame with Two Grates, Std 840.37	2.00	Ea	\$450.00	\$900.00	\$450.00	\$900.00

				R E BURNS &	SONS CO., INC	SANFORD CON	TRACTORS, INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
22	Shoulder Berm Gutter	40.00	LF	\$88.00	\$3,520.00	\$68.21	\$2,728.40
23	Steel Beam Guardrail	62.50	LF	\$25.00	\$1,562.50	\$25.00	\$1,562.50
24	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$11.00	\$55.00
25	Guardrail Anchor Units, Type III	4.00	Ea	\$2,350.00	\$9,400.00	\$2,350.00	\$9,400.00
26	Guardrail End Units, Type TL-3	4.00	Ea	\$3,400.00	\$13,600.00	\$3,400.00	\$13,600.00
27	Rip Rap, Class B	53.00	Ton	\$50.00	\$2,650.00	\$50.00	\$2,650.00
28	Geotextile for Drainage	385.00	SY	\$2.00	\$770.00	\$2.00	\$770.00
29	Temporary Traffic Control	1.00	LS	\$6,400.00	\$6,400.00	\$4,938.00	\$4,938.00
30	Paint Pavement Marking Lines (4")	3,440.00	LF	\$1.40	\$4,816.00	\$1.40	\$4,816.00
31	Temporary Silt Fence	945.00	LF	\$2.00	\$1,890.00	\$2.02	\$1,908.90
32	Stone for Erosion Control, Class A	75.00	Ton	\$1.00	\$75.00	\$1.00	\$75.00
33	Stone for Erosion Control, Class B	75.00	Ton	\$1.00	\$75.00	\$1.00	\$75.00
34	Sediment Control Stone	70.00	Ton	\$1.00	\$70.00	\$1.00	\$70.00
35	Temporary Mulching	0.50	Acre	\$250.00	\$125.00	\$250.00	\$125.00
36	Seed for Temporary Seeding	100.00	LB	\$1.00	\$100.00	\$1.00	\$100.00
37	Fertilizer for Temporary Seeding	0.50	Ton	\$1.00	\$0.50	\$1.00	\$0.50
38	Temporary Slope Drains	200.00	LF	\$4.00	\$800.00	\$4.00	\$800.00
39	Safety Fence	320.00	LF	\$2.00	\$640.00	\$2.00	\$640.00
40	Silt Excavation	110.00	CY	\$2.00	\$220.00	\$2.00	\$220.00
41	Matting for Erosion Control	9,000.00	SY	\$1.00	\$9,000.00	\$1.00	\$9,000.00
42	Coir Fiber Mat	100.00	SY	\$4.45	\$445.00	\$4.45	\$445.00
43	Coir Fiber Wattle	60.00	LF	\$7.00	\$420.00	\$7.00	\$420.00
44	Polycrylamide (PAM)	20.00	LB	\$1.00	\$20.00	\$1.00	\$20.00
45	Seeding & Mulching	0.50	Acre	\$3,000.00	\$1,500.00	\$3,000.00	\$1,500.00
46	Mowing	0.50	Acre	\$1.00	\$0.50	\$75.00	\$37.50
47	Seed for Repair Seeding	50.00	LB	\$1.00	\$50.00	\$1.00	\$50.00
48	Fertilizer for Repair Seeding	0.25	Ton	\$1.00	\$0.25	\$1.00	\$0.25
49	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$1.00	\$50.00
50	Fertilizer Topdressing	0.25	Ton	\$2,000.00	\$500.00	\$2,000.00	\$500.00
51	Specialized Hand Mowing	10.00	Mhr	\$1.00	\$10.00	\$18.00	\$180.00
52	Response for Erosion Control	25.00	Ea	\$1.00	\$25.00	\$1.00	\$25.00
53	Concrete Washout Structure	2.00	Ea	\$1,000.00	\$2,000.00	\$400.00	\$800.00
54	Removal of Existing Structure at Station 12+16.00 -L-	1.00	LS	\$30,000.00	\$30,000.00	\$20,000.00	\$20,000.00

				R E BURNS &	& SONS CO., INC	SANFORD CON	NTRACTORS, INC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
55	Asbestos Assessment	1.00	LS	\$3,000.00	\$3,000.00	\$800.00	\$800.00
56	PDA Testing	1.00	Ea	\$2,500.00	\$2,500.00	\$2,600.00	\$2,600.00
57	Unclassified Structure Excavation at Station 12+16.00 -L-	1.00	LS	\$2,300.00	\$2,300.00	\$5,000.00	\$5,000.00
58	Class A Concrete (Bridge)	51.20	CY	\$1,485.00	\$76,032.00	\$2,000.00	\$102,400.00
59	Bridge Approach Slabs, Station 12+16.00 -L-	1.00	LS	\$25,000.00	\$25,000.00	\$47,751.25	\$47,751.25
60	Reinforcing Steel (Bridge)	7,152.00	LB	\$2.50	\$17,880.00	\$1.25	\$8,940.00
61	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$900.00	\$12,600.00	\$2,200.00	\$30,800.00
62	HP 12 x 53 Steel Piles	280.00	LF	\$45.00	\$12,600.00	\$58.85	\$16,478.00
63	Steel Pile Points	14.00	Ea	\$200.00	\$2,800.00	\$176.55	\$2,471.70
64	Vertical Concrete Barrier	190.00	LF	\$220.00	\$41,800.00	\$220.00	\$41,800.00
65	Rip Rap Class II (2'-0" Thick)	239.00	Ton	\$52.00	\$12,428.00	\$52.00	\$12,428.00
66	Geotextile for Drainage	215.00	SY	\$2.00	\$430.00	\$2.00	\$430.00
67	Elastomeric Bearings	1.00	LS	\$3,175.00	\$3,175.00	\$2,200.00	\$2,200.00
68	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,045.00	LF	\$350.00	\$365,750.00	\$321.00	\$335,445.00
-				<del>-</del>	\$911,161.25	-	\$934,900.00

Bidder No. 1: R E BURNS & SONS CO., INC

Bidder No. 2: SANFORD CONTRACTORS, INC

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER, INC

Bidder No. 6: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 7: DANE CONSTRUCTION, INC

Bidder No. 8: APPLE TUCK & ASSOCIATES, INC

Docusigned by:

Liad G. Brown

15C686F6ED674C5...

DocuSigned by:

J. Howard Reedy, Jr.

4F9D02218EE84D9...

Contract No:DH00526

WBS No:BP8.R001.3

County:Moore

Replacement of Bridge No. 46 over Mcintosh Creek on SR 1658

(Wadsworth Road)

				CMITH DOWE II C			
TEN ANO	ITEM	OLI A NITHTA	LDUTTO		OWE, LLC		CORPORATION
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
1	Mobilization	1.00	LS	\$47,000.00	\$47,000.00	\$50,000.00	\$50,000.00
2	Type II Modified Approach Fill, Sta. 12+16 -L-	1.00	LS	\$10,000.00	\$10,000.00	\$15,000.00	\$15,000.00
3	Grading	1.00	LS	\$80,000.00	\$80,000.00	\$36,000.00	\$36,000.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$1.50	\$450.00	\$1.00	\$300.00
6	Foundation Conditioning Material, Minor Structures	10.00	Ton	\$1.00	\$10.00	\$68.00	\$680.00
7	Foundation Conditioning Geotextile	20.00	SY	\$1.00	\$20.00	\$1.00	\$20.00
8	15" Drainage Pipe	20.00	LF	\$50.00	\$1,000.00	\$210.00	\$4,200.00
9	15" RC Pipe Culverts, Class IV	26.00	LF	\$50.00	\$1,300.00	\$175.00	\$4,550.00
10	Shallow Undercut	100.00	CY	\$20.00	\$2,000.00	\$10.00	\$1,000.00
11	Class IV Subgrade Stabilization	190.00	Ton	\$33.00	\$6,270.00	\$20.00	\$3,800.00
12	Incidental Stone Base	15.00	Ton	\$33.00	\$495.00	\$45.00	\$675.00
13	Incidental Milling	161.00	SY	\$10.00	\$1,610.00	\$26.00	\$4,186.00
14	Asphalt Concrete Base Course, Type B25.0C	120.00	Ton	\$133.00	\$15,960.00	\$133.00	\$15,960.00
15	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	Ton	\$132.00	\$15,840.00	\$132.00	\$15,840.00
16	Asphalt Concrete Surface Course, Type S9.5B	190.00	Ton	\$129.00	\$24,510.00	\$129.00	\$24,510.00
17	Asphalt Binder for Plant Mix	25.00	Ton	\$575.00	\$14,375.00	\$575.00	\$14,375.00
18	Right-of-Way Markers	10.00	Ea	\$325.00	\$3,250.00	\$500.00	\$5,000.00
19	Masonry Drainage Structure	2.00	Ea	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00
20	Masonry Drainage Structure	1.40	LF	\$120.00	\$168.00	\$200.00	\$280.00
21	Frame with Two Grates, Std 840.37	2.00	Ea	\$450.00	\$900.00	\$3,000.00	\$6,000.00

				SMITH-ROWE, LLC		S T WOOTEN CORPORATION	
ITEM NO		QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
22	Shoulder Berm Gutter	40.00	LF	\$90.00	\$3,600.00	\$120.00	\$4,800.00
23	Steel Beam Guardrail	62.50	LF	\$25.00	\$1,562.50	\$25.00	\$1,562.50
24	Additional Guardrail Posts	5.00	Ea	\$1.00	\$5.00	\$11.00	\$55.00
25	Guardrail Anchor Units, Type III	4.00	Ea	\$2,350.00	\$9,400.00	\$2,350.00	\$9,400.00
26	Guardrail End Units, Type TL-3	4.00	Ea	\$3,400.00	\$13,600.00	\$3,400.00	\$13,600.00
27	Rip Rap, Class B	53.00	Ton	\$50.00	\$2,650.00	\$78.00	\$4,134.00
28	Geotextile for Drainage	385.00	SY	\$2.00	\$770.00	\$1.00	\$385.00
29	Temporary Traffic Control	1.00	LS	\$9,600.00	\$9,600.00	\$5,000.00	\$5,000.00
30	Paint Pavement Marking Lines (4")	3,440.00	LF	\$1.40	\$4,816.00	\$1.15	\$3,956.00
31	Temporary Silt Fence	945.00	LF	\$2.02	\$1,908.90	\$6.25	\$5,906.25
32	Stone for Erosion Control, Class A	75.00	Ton	\$1.00	\$75.00	\$50.00	\$3,750.00
33	Stone for Erosion Control, Class B	75.00	Ton	\$1.00	\$75.00	\$78.00	\$5,850.00
34	Sediment Control Stone	70.00	Ton	\$1.00	\$70.00	\$45.00	\$3,150.00
35	Temporary Mulching	0.50	Acre	\$250.00	\$125.00	\$1,500.00	\$750.00
36	Seed for Temporary Seeding	100.00	LB	\$1.00	\$100.00	\$5.00	\$500.00
37	Fertilizer for Temporary Seeding	0.50	Ton	\$1.00	\$0.50	\$1,400.00	\$700.00
38	Temporary Slope Drains	200.00	LF	\$4.00	\$800.00	\$5.00	\$1,000.00
39	Safety Fence	320.00	LF	\$2.00	\$640.00	\$3.00	\$960.00
40	Silt Excavation	110.00	CY	\$2.00	\$220.00	\$10.00	\$1,100.00
41	Matting for Erosion Control	9,000.00	SY	\$1.00	\$9,000.00	\$1.85	\$16,650.00
42	Coir Fiber Mat	100.00	SY	\$4.45	\$445.00	\$5.00	\$500.00
43	Coir Fiber Wattle	60.00	LF	\$7.00	\$420.00	\$20.00	\$1,200.00
44	Polycrylamide (PAM)	20.00	LB	\$1.00	\$20.00	\$25.00	\$500.00
45	Seeding & Mulching	0.50	Acre	\$3,000.00	\$1,500.00	\$5,000.00	\$2,500.00
46	Mowing	0.50	Acre	\$75.00	\$37.50	\$500.00	\$250.00
47	Seed for Repair Seeding	50.00	LB	\$1.00	\$50.00	\$20.00	\$1,000.00
48	Fertilizer for Repair Seeding	0.25	Ton	\$1.00	\$0.25	\$1,475.00	\$368.75
49	Seed for Supplemental Seeding	50.00	LB	\$1.00	\$50.00	\$15.00	\$750.00
50	Fertilizer Topdressing	0.25	Ton	\$2,000.00	\$500.00	\$1,400.00	\$350.00
51	Specialized Hand Mowing	10.00	Mhr	\$18.00	\$180.00	\$100.00	\$1,000.00
52	Response for Erosion Control	25.00	Ea	\$1.00	\$25.00	\$65.00	\$1,625.00
53	Concrete Washout Structure	2.00	Ea	\$400.00	\$800.00	\$1,500.00	\$3,000.00
54	Removal of Existing Structure at Station 12+16.00 -L-	1.00	LS	\$57,450.00	\$57,450.00	\$46,000.00	\$46,000.00

				SMITH-R	OWE, LLC	S T WOOTEN	CORPORATION
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
55	Asbestos Assessment	1.00	LS	\$800.00	\$800.00	\$1,000.00	\$1,000.00
56	PDA Testing	1.00	Ea	\$1.00	\$1.00	\$4,500.00	\$4,500.00
57	Unclassified Structure Excavation at Station 12+16.00 -L-	1.00	LS	\$2,300.00	\$2,300.00	\$20,000.00	\$20,000.00
58	Class A Concrete (Bridge)	51.20	CY	\$1,323.74	\$67,775.49	\$1,000.00	\$51,200.00
59	Bridge Approach Slabs, Station 12+16.00 -L-	1.00	LS	\$31,975.00	\$31,975.00	\$30,000.00	\$30,000.00
60	Reinforcing Steel (Bridge)	7,152.00	LB	\$2.00	\$14,304.00	\$2.14	\$15,305.28
61	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$848.05	\$11,872.70	\$1,000.00	\$14,000.00
62	HP 12 x 53 Steel Piles	280.00	LF	\$61.64	\$17,259.20	\$87.00	\$24,360.00
63	Steel Pile Points	14.00	Ea	\$371.75	\$5,204.50	\$160.00	\$2,240.00
64	Vertical Concrete Barrier	190.00	LF	\$179.22	\$34,051.80	\$200.00	\$38,000.00
65	Rip Rap Class II (2'-0" Thick)	239.00	Ton	\$52.00	\$12,428.00	\$90.00	\$21,510.00
66	Geotextile for Drainage	215.00	SY	\$2.00	\$430.00	\$1.00	\$215.00
67	Elastomeric Bearings	1.00	LS	\$2,800.00	\$2,800.00	\$4,000.00	\$4,000.00
68	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,045.00	LF	\$372.55	\$389,314.75	\$425.00	\$444,125.00
					004045400		04 000 004 50

\$940,171.09 \$1,023,084.78

Bidder No. 1: R E BURNS & SONS CO., INC

Bidder No. 2: SANFORD CONTRACTORS, INC

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER, INC

Bidder No. 6: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 7: DANE CONSTRUCTION, INC

Bidder No. 8: APPLE TUCK & ASSOCIATES, INC

Docusigned by:
Cliad G. Brown
15C686F6ED674C5...

—DocuSigned by: J. Howard Reedy, Jr. —4F9D02218EE84D9...

Contract No:DH00526

WBS No:BP8.R001.3

County:Moore

Replacement of Bridge No. 46 over Mcintosh Creek on SR 1658

(Wadsworth Road)

				2577.		FSC II LLC DBA FRED SMITH COMPANY	
ITEM NO	ITEM	QUANTITY	UNITS	DELLIN UNIT PRICE	IGER, INC AMOUNT BID	UNIT PRICE	IPANY AMOUNT BID
1	Mobilization	1.00	LS	\$48,000.00	\$48,000.00	\$54,000.00	\$54,000.00
2	Type II Modified Approach Fill, Sta. 12+16 -L-	1.00	LS	\$15,000.00	\$15,000.00	\$17,000.00	\$17,000.00
	Grading	1.00	LS	\$95,500.00	\$95,500.00	\$77,100.00	\$77,100.00
4	Supplementary Clearing & Grubbing	1.00	Acre	\$1.00	\$1.00	\$1.00	\$1.00
5	Geotextile for Soil Stabilization	300.00	SY	\$3.85	\$1,155.00	\$4.00	\$1,200.00
6	Foundation Conditioning Material, Minor Structures	10.00	Ton	\$38.50	\$385.00	\$50.00	\$500.00
7	Foundation Conditioning Geotextile	20.00	SY	\$3.50	\$70.00	\$6.00	\$120.00
8	15" Drainage Pipe	20.00	LF	\$51.00	\$1,020.00	\$80.00	\$1,600.00
9	15" RC Pipe Culverts, Class IV	26.00	LF	\$90.00	\$2,340.00	\$85.00	\$2,210.00
10	Shallow Undercut	100.00	CY	\$15.00	\$1,500.00	\$57.00	\$5,700.00
11	Class IV Subgrade Stabilization	190.00	Ton	\$36.00	\$6,840.00	\$55.00	\$10,450.00
12	Incidental Stone Base	15.00	Ton	\$40.00	\$600.00	\$72.00	\$1,080.00
13	Incidental Milling	161.00	SY	\$45.00	\$7,245.00	\$41.00	\$6,601.00
14	Asphalt Concrete Base Course, Type B25.0C	120.00	Ton	\$133.00	\$15,960.00	\$143.00	\$17,160.00
15	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	Ton	\$132.00	\$15,840.00	\$132.00	\$15,840.00
16	Asphalt Concrete Surface Course, Type S9.5B	190.00	Ton	\$129.00	\$24,510.00	\$135.00	\$25,650.00
17	Asphalt Binder for Plant Mix	25.00	Ton	\$575.00	\$14,375.00	\$700.00	\$17,500.00
18	Right-of-Way Markers	10.00	Ea	\$200.00	\$2,000.00	\$200.00	\$2,000.00
19	Masonry Drainage Structure	2.00	Ea	\$3,000.00	\$6,000.00	\$4,000.00	\$8,000.00
20	Masonry Drainage Structure	1.40	LF	\$650.00	\$910.00	\$450.00	\$630.00
21	Frame with Two Grates, Std 840.37	2.00	Ea	\$3,200.00	\$6,400.00	\$1,000.00	\$2,000.00

	DELLINGER, INC				GER, INC	FSC II LLC DBA FRED SMITH COMPANY		
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID	
22	Shoulder Berm Gutter	40.00	LF	\$60.00	\$2,400.00	\$170.00	\$6,800.00	
23	Steel Beam Guardrail	62.50	LF	\$25.00	\$1,562.50	\$25.00	\$1,562.50	
24	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$11.00	\$55.00	
25	Guardrail Anchor Units, Type III	4.00	Ea	\$2,350.00	\$9,400.00	\$2,350.00	\$9,400.00	
26	Guardrail End Units, Type TL-3	4.00	Ea	\$3,400.00	\$13,600.00	\$3,400.00	\$13,600.00	
27	Rip Rap, Class B	53.00	Ton	\$47.00	\$2,491.00	\$79.00	\$4,187.00	
28	Geotextile for Drainage	385.00	SY	\$4.00	\$1,540.00	\$2.00	\$770.00	
29	Temporary Traffic Control	1.00	LS	\$9,400.00	\$9,400.00	\$7,000.00	\$7,000.00	
30	Paint Pavement Marking Lines (4")	3,440.00	LF	\$1.75	\$6,020.00	\$1.40	\$4,816.00	
31	Temporary Silt Fence	945.00	LF	\$3.50	\$3,307.50		\$1,890.00	
32	Stone for Erosion Control, Class A	75.00	Ton	\$1.00	\$75.00	\$1.00	\$75.00	
33	Stone for Erosion Control, Class B	75.00	Ton	\$47.00	\$3,525.00	\$1.00	\$75.00	
34	Sediment Control Stone	70.00	Ton	\$38.50	\$2,695.00	\$1.00	\$70.00	
35	Temporary Mulching	0.50	Acre	\$1,800.00	\$900.00	\$1,000.00	\$500.00	
36	Seed for Temporary Seeding	100.00	LB	\$3.00	\$300.00	\$2.00	\$200.00	
37	Fertilizer for Temporary Seeding	0.50	Ton	\$100.00	\$50.00	\$500.00	\$250.00	
38	Temporary Slope Drains	200.00	LF	\$1.00	\$200.00	\$1.00	\$200.00	
39	Safety Fence	320.00	LF	\$3.00	\$960.00	\$2.00	\$640.00	
40	Silt Excavation	110.00	CY	\$12.00	\$1,320.00	\$1.00	\$110.00	
41	Matting for Erosion Control	9,000.00	SY	\$2.00	\$18,000.00	\$0.01	\$90.00	
42	Coir Fiber Mat	100.00	SY	\$8.00	\$800.00	\$5.00	\$500.00	
43	Coir Fiber Wattle	60.00	LF	\$14.00	\$840.00	\$14.00	\$840.00	
44	Polycrylamide (PAM)	20.00	LB	\$10.00	\$200.00	\$11.00	\$220.00	
45	Seeding & Mulching	0.50	Acre	\$4,500.00	\$2,250.00	\$2,000.00	\$1,000.00	
46	Mowing	0.50	Acre	\$150.00	\$75.00	\$300.00	\$150.00	
47	Seed for Repair Seeding	50.00	LB	\$3.00	\$150.00	\$6.90	\$345.00	
48	Fertilizer for Repair Seeding	0.25	Ton	\$100.00	\$25.00	\$1,200.00	\$300.00	
49	Seed for Supplemental Seeding	50.00	LB	\$3.00	\$150.00	\$6.90	\$345.00	
50	Fertilizer Topdressing	0.25	Ton	\$100.00	\$25.00	\$1,200.00	\$300.00	
51	Specialized Hand Mowing	10.00	Mhr	\$25.00	\$250.00	\$50.00	\$500.00	
52	Response for Erosion Control	25.00	Ea	\$100.00	\$2,500.00	\$1.00	\$25.00	
53	Concrete Washout Structure	2.00	Ea	\$302.56	\$605.12	\$500.00	\$1,000.00	
54	Removal of Existing Structure at Station 12+16.00 -L-	1.00	LS	\$25,000.00	\$25,000.00	\$135,000.00	\$135,000.00	

						FSC II LLC DBA FRED SMITH	
				DELLIN	IGER, INC	COM	IPANY
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
55	Asbestos Assessment	1.00	LS	\$5,000.00	\$5,000.00	\$2,500.00	\$2,500.00
56	PDA Testing	1.00	Ea	\$2,500.00	\$2,500.00	\$1,000.00	\$1,000.00
57	Unclassified Structure Excavation at Station 12+16.00 -L-	1.00	LS	\$2,000.00	\$2,000.00	\$17,500.00	\$17,500.00
58	Class A Concrete (Bridge)	51.20	CY	\$1,500.00	\$76,800.00	\$1,400.00	\$71,680.00
59	Bridge Approach Slabs, Station 12+16.00 -L-	1.00	LS	\$26,000.00	\$26,000.00	\$28,000.00	\$28,000.00
60	Reinforcing Steel (Bridge)	7,152.00	LB	\$2.00	\$14,304.00	\$3.00	\$21,456.00
61	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$5,000.00	\$70,000.00	\$475.00	\$6,650.00
62	HP 12 x 53 Steel Piles	280.00	LF	\$53.00	\$14,840.00	\$63.00	\$17,640.00
63	Steel Pile Points	14.00	Ea	\$125.00	\$1,750.00	\$178.00	\$2,492.00
64	Vertical Concrete Barrier	190.00	LF	\$210.00	\$39,900.00	\$178.00	\$33,820.00
65	Rip Rap Class II (2'-0" Thick)	239.00	Ton	\$57.00	\$13,623.00	\$76.00	\$18,164.00
66	Geotextile for Drainage	215.00	SY	\$4.00	\$860.00	\$2.65	\$569.75
67	Elastomeric Bearings	1.00	LS	\$7,500.00	\$7,500.00	\$6,026.00	\$6,026.00
68	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,045.00	LF	\$375.00	\$391,875.00	\$400.00	\$418,000.00
					¢1 0/2 27/ 12		Q1 10 <i>4 655 35</i>

\$1,043,274.12

\$1,104,655.25

Bidder No. 1: R E BURNS & SONS CO., INC

Bidder No. 2: SANFORD CONTRACTORS, INC

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER, INC

Bidder No. 6: FSC II LLC DBA FRED SMITH

**COMPANY** 

Bidder No. 7: DANE CONSTRUCTION, INC

Bidder No. 8: APPLE TUCK & ASSOCIATES, INC

Docusigned by:
Und G. Brown
15C686F6ED674C5...

DocuSigned by:

J. Howard Reedy, Jr.

4F9D02218EE84D9...

Contract No:DH00526

WBS No:BP8.R001.3

County:Moore

Replacement of Bridge No. 46 over Mcintosh Creek on SR 1658

(Wadsworth Road)

		DANE CONSTRUCTION I				APPLE TUCK & ASSOCIATES,	
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	FRUCTION, INC AMOUNT BID	UNIT PRICE	NC AMOUNT BID
1	Mobilization	1.00	LS	\$60,625.00	\$60,625.00		\$42,460.00
2	Type II Modified Approach Fill, Sta. 12+16 -L-	1.00	LS	\$13,000.00	\$13,000.00	\$39,550.00	\$39,550.00
	Grading	1.00	LS	\$95,000.00	\$95,000.00	,	\$110,000.00
	o .		20			,	,
	Supplementary Clearing & Grubbing	1.00	Acre	\$500.00	\$500.00		\$8,250.00
5	Geotextile for Soil Stabilization	300.00	SY	\$4.00	\$1,200.00	\$6.81	\$2,043.00
6	Foundation Conditioning Material, Minor Structures	10.00	Ton	\$100.00	\$1,000.00	\$73.60	\$736.00
7	Foundation Conditioning Geotextile	20.00	SY	\$4.00	\$80.00	\$6.81	\$136.20
8	15" Drainage Pipe	20.00	LF	\$65.00	\$1,300.00	\$142.75	\$2,855.00
9	15" RC Pipe Culverts, Class IV	26.00	LF	\$75.00	\$1,950.00	\$173.75	\$4,517.50
10	Shallow Undercut	100.00	CY	\$20.00	\$2,000.00	\$27.50	\$2,750.00
11	Class IV Subgrade Stabilization	190.00	Ton	\$40.00	\$7,600.00	\$68.10	\$12,939.00
12	Incidental Stone Base	15.00	Ton	\$75.00	\$1,125.00	\$68.10	\$1,021.50
13	Incidental Milling	161.00	SY	\$35.00	\$5,635.00	\$22.00	\$3,542.00
14	Asphalt Concrete Base Course, Type B25.0C	120.00	Ton	\$133.00	\$15,960.00	\$175.00	\$21,000.00
15	Asphalt Concrete Intermediate Course, Type I19.0C	120.00	Ton	\$132.00	\$15,840.00	\$175.00	\$21,000.00
16	Asphalt Concrete Surface Course, Type S9.5B	190.00	Ton	\$129.00	\$24,510.00	\$175.00	\$33,250.00
17	Asphalt Binder for Plant Mix	25.00	Ton	\$575.00	\$14,375.00	\$688.00	\$17,200.00
18	Right-of-Way Markers	10.00	Ea	\$215.00	\$2,150.00	\$567.50	\$5,675.00
19	Masonry Drainage Structure	2.00	Ea	\$3,250.00	\$6,500.00	\$6,260.00	\$12,520.00
20	Masonry Drainage Structure	1.40	LF	\$250.00	\$350.00	\$5,710.00	\$7,994.00
21	Frame with Two Grates, Std 840.37	2.00	Ea	\$975.00	\$1,950.00	\$4,575.00	\$9,150.00

				DANE CONST	RUCTION, INC	APPLE TUCK &	· ·
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
22	Shoulder Berm Gutter	40.00	LF	\$40.00	\$1,600.00	\$95.95	\$3,838.00
23	Steel Beam Guardrail	62.50	LF	\$25.00	\$1,562.50	\$30.80	\$1,925.00
24	Additional Guardrail Posts	5.00	Ea	\$11.00	\$55.00	\$55.00	\$275.00
25	Guardrail Anchor Units, Type III	4.00	Ea	\$2,350.00	\$9,400.00	\$2,860.00	\$11,440.00
26	Guardrail End Units, Type TL-3	4.00	Ea	\$3,400.00	\$13,600.00	\$4,180.00	\$16,720.00
27	Rip Rap, Class B	53.00	Ton	\$50.00	\$2,650.00	\$91.15	\$4,830.95
28	Geotextile for Drainage	385.00	SY	\$3.25	\$1,251.25	\$6.81	\$2,621.85
29	Temporary Traffic Control	1.00	LS	\$9,500.00	\$9,500.00	\$5,431.80	\$5,431.80
30	Paint Pavement Marking Lines (4")	3,440.00	LF	\$1.40	\$4,816.00	\$0.55	\$1,892.00
31	Temporary Silt Fence	945.00	LF	\$2.00	\$1,890.00	\$6.81	\$6,435.45
32	Stone for Erosion Control, Class A	75.00	Ton	\$50.00	\$3,750.00	\$84.95	\$6,371.25
33	Stone for Erosion Control, Class B	75.00	Ton	\$50.00	\$3,750.00	\$84.95	\$6,371.25
34	Sediment Control Stone	70.00	Ton	\$45.00	\$3,150.00	\$68.45	\$4,791.50
35	Temporary Mulching	0.50	Acre	\$1,800.00	\$900.00	\$2,855.00	\$1,427.50
36	Seed for Temporary Seeding	100.00	LB	\$1.75	\$175.00	\$5.71	\$571.00
37	Fertilizer for Temporary Seeding	0.50	Ton	\$1,200.00	\$600.00	\$5,090.00	\$2,545.00
38	Temporary Slope Drains	200.00	LF	\$15.00	\$3,000.00	\$34.40	\$6,880.00
39	Safety Fence	320.00	LF	\$2.00	\$640.00	\$4.54	\$1,452.80
40	Silt Excavation	110.00	CY	\$20.00	\$2,200.00	\$27.50	\$3,025.00
41	Matting for Erosion Control	9,000.00	SY	\$1.75	\$15,750.00	\$6.23	\$56,070.00
42	Coir Fiber Mat	100.00	SY	\$20.00	\$2,000.00	\$6.81	\$681.00
43	Coir Fiber Wattle	60.00	LF	\$12.00	\$720.00	\$11.35	\$681.00
44	Polycrylamide (PAM)	20.00	LB	\$15.00	\$300.00	\$34.40	\$688.00
45	Seeding & Mulching	0.50	Acre	\$1,800.00	\$900.00	\$2,890.00	\$1,445.00
46	Mowing	0.50	Acre	\$600.00	\$300.00	\$1,100.00	\$550.00
47	Seed for Repair Seeding	50.00	LB	\$2.00	\$100.00	\$4.54	\$227.00
48	Fertilizer for Repair Seeding	0.25	Ton	\$1,200.00	\$300.00	\$4,025.00	\$1,006.25
49	Seed for Supplemental Seeding	50.00	LB	\$2.50	\$125.00	\$5.64	\$282.00
50	Fertilizer Topdressing	0.25	Ton	\$1,200.00	\$300.00	\$4,575.00	\$1,143.75
51	Specialized Hand Mowing	10.00	Mhr	\$60.00	\$600.00	\$550.00	\$5,500.00
52	Response for Erosion Control	25.00	Ea	\$350.00	\$8,750.00	\$825.00	\$20,625.00
53	Concrete Washout Structure	2.00	Ea	\$2,500.00	\$5,000.00	\$1,190.00	\$2,380.00
54	Removal of Existing Structure at Station 12+16.00 -L-	1.00	LS	\$67,785.00	\$67,785.00	\$77,000.00	\$77,000.00

						APPLE TUCK & ASSOCIATES,	
				DANE CONS'	TRUCTION, INC	I	NC
ITEM NO	ITEM	QUANTITY	UNITS	UNIT PRICE	AMOUNT BID	UNIT PRICE	AMOUNT BID
55	Asbestos Assessment	1.00	LS	\$1,175.00	\$1,175.00	\$1,292.50	\$1,292.50
56	PDA Testing	1.00	Ea	\$1,800.00	\$1,800.00	\$3,960.00	\$3,960.00
57	Unclassified Structure Excavation at Station 12+16.00 -L-	1.00	LS	\$10,000.00	\$10,000.00	\$33,000.00	\$33,000.00
58	Class A Concrete (Bridge)	51.20	CY	\$1,950.00	\$99,840.00	\$1,392.50	\$71,296.00
59	Bridge Approach Slabs, Station 12+16.00 -L-	1.00	LS	\$22,000.00	\$22,000.00	\$33,700.00	\$33,700.00
60	Reinforcing Steel (Bridge)	7,152.00	LB	\$2.50	\$17,880.00	\$3.75	\$26,820.00
61	Pile Driving Equipment Setup for HP 12 x 53 Steel Piles	14.00	Ea	\$1,950.00	\$27,300.00	\$2,200.00	\$30,800.00
62	HP 12 x 53 Steel Piles	280.00	LF	\$45.00	\$12,600.00	\$64.26	\$17,992.80
63	Steel Pile Points	14.00	Ea	\$425.00	\$5,950.00	\$150.79	\$2,111.06
64	Vertical Concrete Barrier	190.00	LF	\$150.00	\$28,500.00	\$273.00	\$51,870.00
65	Rip Rap Class II (2'-0" Thick)	239.00	Ton	\$70.00	\$16,730.00	\$96.30	\$23,015.70
66	Geotextile for Drainage	215.00	SY	\$4.00	\$860.00	\$5.71	\$1,227.65
67	Elastomeric Bearings	1.00	LS	\$10,600.00	\$10,600.00	\$17,025.00	\$17,025.00
68	3'-0" X 2'-9" PRESTRESSED CONCBOX BEAMS	1,045.00	LF	\$495.00	\$517,275.00	\$392.82	\$410,496.90
					¢1 212 570 75		¢1 240 221 16

\$1,212,579.75 \$1,340,321.16

Bidder No. 1: R E BURNS & SONS CO., INC

Bidder No. 2: SANFORD CONTRACTORS, INC

Bidder No. 3: SMITH-ROWE, LLC

Bidder No. 4: S T WOOTEN CORPORATION

Bidder No. 5: DELLINGER, INC

Bidder No. 6: FSC II LLC DBA FRED SMITH

COMPANY

Bidder No. 7: DANE CONSTRUCTION, INC

Bidder No. 8: APPLE TUCK & ASSOCIATES, INC

DocuSigned by:
Use G. Brown
15C686F6ED674C5...

— DocuSigned by: J. Howard Reedy, Jr. —4F9D02218EE84D9...